est (Onit 3 & Chapter 2

A- Vocabulary and Structure
1- Choose the correct answer:

1- CD-ROMs can .................. huge amounts of information.
a) hold b) catch c) touch d) fetch
2- Every year, millions of trees are cut .................. to make new paper.
a) in b) of c) with d) down
3- You can get this novel as an .................. from the bookshop over there.
a) e-book b) e-mail C) e-learning d) e-commerce
4- If you like to shop online, this website has many new and used books ...............
a) found b) authored ) available d) written
5- Wetryto ... paper, plastic and batteries to help our environment.
a) include b) mix C) reserve d) recycle
6- To paint a large area of the wall quickly, try using a paint ...................
a) brush b) roller C) instrument d) utensil
7- We usually ............... beans overnight to soften before we cook them.
a) mix b) soak c) recycle d) rolled
8- Arab travellers traded ....................... the Chinese.
a) from b) in c) at d) with
9- QOil and water don't ............ even if you shake them together, they separate into two
layers.
a) drink b) soak c) fix d) mix
10- e, is @ way to reuse materials such as paper and glass rather than
throwing them away.
a) Recycling b) Receiving ¢) Reappearing d) Recording
11- The television picture is really clear. You have an enormous ..................... :
a) wire b) scream C) screen d) stream
12- To get coffee, put your money in the machine and .................... the green button.
a) sink b) soak ) bleach d) press
13- The Arabs learnt how to ................. paper from the Chinese.
a) make b) do c) work d) grow
14- Have you seen this handy little .................. - it's for separating egg yolks from whites.
a) budget b) bracelet C) gadget d) saw
15- A/ An ......... is @ book which deals either with the whole of human knowledge.
a) newspaper b) encyclopedia c¢) dictionary d) Thesaurus
16- You can call me at work at 8am. I .................. at the office by 8.
a) will arrive b) will be arriving c) will be arrived d) will have arrived
17- By the time I .............. this course, I will have taken ten tests.
a) will finish b) finish ¢) had finished d) will be finishing
18- Tamara ......ccccceeeviiiiciccnnn, her Bachelor’s Degree by June.
a) will complete b) will have completed
c) will have been completed d) would have completed
19- By 2025, I hope researchers ...........ccccuuunee... a cure for cancer.
a) will have found b) will have been found
c) will find d) would have found
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20- Do you think the teacher will have marked our homework ............. Monday morning?

a) on b) at c) for d) by
21- We won't start the meeting until you ...................
a) arrives b) had arrived c) will arrive d) arrive
22- The concert this evening ..................... at 7.
a) starts b) will start C) is starting d) is going to start
23- We ..., the meeting as soon as he arrives.
a) start b) have started  ¢) will start d) started
24- 1 think it ................ The sky is cloudy.
a) is going to rain b) is raining C) rains d) will rain
25- A: The phone is ringing.  B: ................. it.

a) am going to answer b) am answering ¢) will answer d) answer
26- T o, hire a car to travel around London. This is my intention.
a) am going to b) may c) could d) will

27- 1 oo probably be away for a week.
a) am going to b) am C) am going d) will
28- It's arranged. We ........... to the Red Sea this summer.
a) will go b) go C) are going d) may go
29- I will inform you assoonas I .................... home tomorrow.
a) will arrive b) arrive C) am arriving d) has arrived
30- The boy is running fast. He ..................... down.
a) is going to fall b) is falling c) will fall d) falls
B-_Reading
2- Read the passage then answer the questions:
Future man: Like tis .........cccceees ?

What will man be in the future-in 5000 or even 50,000 years from now? We can only
make a guess, of course, we can be sure that he will be different from what he is today.
For man is slowly changing all the time.

Let us take an obvious example. Man, even five hundred years ago, was shorter than
he is today. Now, on the average, men are about three inches taller, and we assume that
they will continue to grow taller. Again, in the modern world we use our brains a great
deal. Even so, we still make use of only about 20 % of the brain's capacity 4,18 / as.w. As
time goes on, however, we shall have to use our brains more and more eventually we shall
need larger ones! This is likely to bring about a physical change too: the head, in particular
the forehead, will grow larger.

Nowadays our eyes are in constant use. In fact, we use them so much that very
often they become weaker and we have to wear glasses. But over a very long period of
time, it is likely that man's eyes will grow stronger.

But what about hair? This will probably disappear from the body altogether in course
of time because it does not serve a useful purpose any longer. In the future, then, both
sexes are likely to be bald!

Perhaps all this gives the impression gldni| that future man will not be a very
attractive creature to look at! This may well be true. All the same, in spite of all these
changes, future man will still have a lot in common with us. He will still be a human being,
with thoughts and emotions similar to our own.
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A) Choose the correct answer:

1- The text tells us a great deal about how future man ..................

2-

3-

6-

a) will look b) will live c) will feel d) will die

Future man is likely to be different from us ..................

a) in almost every way b) in quite a few ways

C) in one or two ways d) in no way

We ..o what man will look like in the future.

a) can be absolutely sure b) can guess

c) have no idea d) can't guess

People's heads will eventually grow larger because their brains will ................ :
a) grow faster than at present b) not be in constant use

c) need more room than at present  d) can't guess

Future man will probably .......................... :

a) have bigger eyes b) see better

c) have to wear better glasses d) have strong eyes
Future man will be .......................... .

a) less attractive b) more attractive
c) the same as he looks now d) more handsome

B) Answer the following questions;

7-
8-
O-

Suggest a title for this passage.

What reason does the writer give for believing that future man will be different?

What does the underlined word "them" refer to?

10- What will future man still have in common with us?

The Prisoner of Zenda
3- A) Choose the correct answer from a, b, c or d:

1- Why did Colonel Sapt and Fritz von Tarlenheim not eat much that evening?

a) They knew the food was poisoned. b) They were not hungry.
c) They were very ill.
d) They did not want to eat much before the important coronation.

2- Rudolf has to leave the country before it's light so that ................ :

a) the Duke can become King.

b) nobody knows that he pretended to be the King
c) he can write a story about what happened

d) people don't think that he poisoned the King

3- Why wasn't Rassendyll as sick as the King was?

a) He was stronger than the King.

b) He did not eat the same food as the King.
c) He did not eat as many cakes as the King.
d) He knew what was planned for the King.

4- The King has to return to the palace in the dark because ....................

a) they don't want people to know that he was ill

b) he is not wearing the King's clothes

c) the poor people would attack him if they saw him
d) he is frightened of the Duke
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B) Answer TWO (2) of the following questions:
5- Do you think there might be a problem with the fact that Rudolf looks very much like

the King?

6- Which character is wiser in your opinion, Fritz or Sapt? Say why.

7- Why do you think Duke Michael tried to get rid of his brother by poisoning him
instead of any other way?

C-_Writing
4- Finish the following dialogue:
A husband is talking to his wife.

H: What's for dinner?

H: I don't want any fish. ..............cccccc i

W: You said you enjoyed it yesterday. Why don't you try it again?

H: What? ..o

W: O.K. Don't be angry. How about going out to dinner?

H: SOITY, e

W: Then, dinner at home is cheaper.

H: Yesand I .......cccooeeeeiiinnnnnn . There is no other way.

W: Good, and I'll make some change. You'll have it grilled instead of ...........................

5-Write a paragraph of about One Hundred and Twenty (120) words on one

of the following:
1- Has reading become an old-fashioned habit?

2- The importance of public libraries.

6- A) Translate into Arabic:

1- Sooner or later, the internet will become the backbone of life aspects.
2- All parents should know that they are responsible for bringing up a conscious and
enlightened generation.

B) Translate One (1) sentence only lnta English:
Delyall sde O)_w\” >I,9I &z USo S (89 anlell uLuS.o.” Lo -)
Lol ¢l IS0 JLaiVl o ooVl g VI cowll o)p,>l LiSoi -Y
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